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1   Introduction
This document aims at providing some comments on R3-112040 “Considerations eMBMS Results Report” from Ericsson.
2   Discussion
Ericsson provides a quite good analysis on the open issue postponed by RAN3#72:
· How to handle [with] multiple parallel counting report and partial report failure?
However, the solutions Ericsson provided in R3-112040 would be not backward compatible since the solutions have impact on ASN.1 which has been frozen.
The solutions Ericsson provided are based on the hypothesis that the MCE cannot judge whether the eNB is not able to send MBMS Service Counting Results Report message.
Firstly, we are doubt with the scenarios. We have already been specified that:

If the eNB is not capable of correctly processing the request, it shall return a MBMS SERVICE COUNTING FAILURE message.
Then the only scenario that the MCE can not receive the message is the MBMS Session Counting Results Report message is lost. However we think lost of M2AP message is very rare case. If it is a usual case, all the class 2 procedures in S1, X2 and M2 may need an abnormal handling. Additionally, we think there would be another feasible solution which has no impact on ASN.1.

[image: image1.emf]MCE eNB UE

1. MBMS Service 

Counting Request

4. MBMS Service 

CountingResults Report

3. MCCH

MCCH Update time

1 MP

4. MBMS Counting 

Response

T1: eNB 

processin

g delay

2. MBMS Service 

CountingResponse


Figure 1: Counting delay

The MCE can judge the time point that the eNB should respond the MBMS Service Counting Results Report message as:

Tx= 1 MP + T1 + T2

Where, the TMCCHUpdateTime is the indicated MCCH Update Time in the MBMS Service Counting Request message; 1 MP (Modification Period) is introduced by counting procedure in Un interface; T1 is processing delay in eNB and 5ms is sufficient; and T2 is M2 backhaul delay and the value would be 10ms.

Thus, the expression will be:
Tx = 1 MP + [15ms]

So, the solution is illustrated in Figure.2, as similar with R3-112040, we provide unsuccessful case:

[image: image2.emf]MME MCE eNB

1. MBMS SESSION START 

REQUEST(TMGI, T)

2. MBMS SESSION 

START RESPONSE

3. MBMS SERVICE 

COUNTING REQUEST(TMGI)

4. MBMS SERVICE 

COUNTING RESPONSE

6. MBMS SERVICE 

COUNTING 

REQUEST(TMGI)

8. MBMS SERVICE 

COUNTING RESULTS 

REPORT(TMGI)

7. MBMS SERVICE 

COUNTING RESPONSE

9

MCCH Update Time

5. The Timer Tx 

expiry


Figure 2: Timer Based Solution

1: MCE receives the MBMS Session Start Request message containing the TMGI and Minimum Time to MBMS Data Transfer

2: MCE Responds successfully with MBMS Session Start Response to MME

3: MCE notices that T > Twait and sends the MBMS Service Counting Request to eNB

4: eNB confirms the counting request

5:  MCE starts Tx and detects eNB is not able to provide a counting result if the Tx is expiry 
6: MCE notices that T > Twait and sends the MBMS Service Counting Request to eNB

7: eNB confirms the counting request

8: eNB sends the MBMS Service Counting Results Report containing the result for the requested TMGI and is received by MCE at Twait after step 7.

9. Based on the result received from eNB in step 8, MCE decides whether to start the session or not.
Proposal 1: MCE decides there is no counting result to report by a Timer expiry in the implementation. 

In the section 5.2 of M2AP, it is stated that: 
5.2
Parallel transactions

Unless explicitly indicated in the procedure specification, at any instance in time one protocol peer shall have a maximum of one ongoing M2AP procedure related to a certain MBMS service.

If we allow transmitting parallel MBMS Service Counting Request procedures with same service (TMGI), it would be against with the principle specified in the section 5.2, when eNB responds the counting request or constructs the counting report. Furthermore, we think it would be not a necessary requirement to request the counting for same service during a short time (about 1 MP).
Proposal 2: Introduce an abnormal condition clarifying that it is not allowed if two or more MBMS Counting Request messages are received for the same TMGIs.
3   Proposals
In this document, we give some comments the ASN.1 change Ericsson provided may be not backwards compatible. And we would like to propose a solution for the issue without ASN.1 change:
Proposal 1: MCE decides there is no counting result to report by a Timer expiry in the implementation.
Proposal 2: Introduce an abnormal condition clarifying that it is not allowed if two or more MBMS Counting Request messages are received for the same TMGIs.
4   Reference

[1] R3-112040 “Considerations eMBMS Results Report”, Ericsson.
















































































































































































































































































































3GPP


_1375106072.vsd
文本�

MCE


eNB


UE


1. MBMS Service Counting Request


4. MBMS Service Counting Results Report


3. MCCH


4. MBMS Counting Response


T1: eNB processing delay


2. MBMS Service Counting Response


MCCH Update time


1 MP



_1375107987.vsd
MME


MCE


eNB


1. MBMS SESSION START REQUEST(TMGI, T)


2. MBMS SESSION START RESPONSE


3. MBMS SERVICE COUNTING REQUEST(TMGI)


4. MBMS SERVICE COUNTING RESPONSE


MCCH Update Time


6. MBMS SERVICE COUNTING REQUEST(TMGI)


8. MBMS SERVICE COUNTING RESULTS REPORT(TMGI)


7. MBMS SERVICE COUNTING RESPONSE


9


5. The Timer Tx expiry



